
  
  

Battle  of  Gettysburg  Day  1  Reading  Comprehension                                                                      
  Name:  _________________________  
  
Read  the  passage  and  answer  the  questions.    
  
The  Ridges  of  Gettysburg  
  
Anticipating  a  Confederate  assault,  Union  Brigadier  General  John  Buford  and  his  
soldiers  would  produce  the  first  line  of  defense.  Buford  positioned  his  defenses  along  
three  ridges  west  of  the  town.  Buford's  goal  was  simply  to  delay  the  Confederate  
advance  with  his  small  cavalry  unit  until  greater  Union  forces  could  assemble  their  
defenses  on  the  three  storied  ridges  south  of  town  known  as  Cemetery  Ridge,  
Cemetery  Hill,  and  Culp's  Hill's.  These  ridges  were  crucial  to  control  of  Gettysburg.  
Whichever  army  could  successfully  occupy  these  heights  would  have  superior  position  
and  would  be  difficult  to  dislodge.    
  
The  Death  of  Major  General  Reynolds  
  
The  first  of  the  Confederate  forces  to  engage  at  Gettysburg,  under  the  Command  of  
Major  General  Henry  Heth,  succeeded  in  advancing  forward  despite  Buford's  
defenses.  Soon,  battles  erupted  in  several  locations,  and  Union  forces  would  suffer  
severe  casualties.  Union  Major  General  John  Reynolds  would  be  killed  in  battle  while  
positioning  his  troops.  Major  General  Abner  Doubleday,  the  man  eventually  credited  
with  inventing  the  formal  game  of  baseball,  would  assume  command.  Fighting  would  
intensify  on  a  road  known  as  the  Chambersburg  Pike,  as  Confederate  forces  continued  
to  advance.  
  
Jubal  Early's  Successful  Assault  
  
Meanwhile,  Union  defenses  positioned  north  and  northwest  of  town  would  soon  be  
outflanked  by  Confederates  under  the  command  of  Jubal  Early  and  Robert  Rodes.  
Despite  suffering  severe  casualties,  Early's  soldiers  would  break  through  the  line  under  
the  command  of  Union  General  Francis  Barlow,  attacking  them  from  multiple  sides  and  
completely  overwhelming  them.  Barlow  would  be  wounded  and  captured.  Union  forces  
were  forced  to  retreat  to  Cemetery  Hill,  west  of  town,  to  regroup.  Here,  command  of  
the  battlefield  was  turned  over  to  Major  General  Winfield  Hancock.  Hancock  made  the  
decision  that  the  bulk  of  his  forces  would  be  deployed  at  Gettysburg,  ensuring  it  would  
be  the  scene  of  the  largest  battle  of  the  War.    
  
  
  



Confusing  Orders  
  
On  the  Confederate  side,  Lee  instructed  Major  General  Richard  Ewell  to  take  
Cemetery  Ridge  "if  practical."  Ewell  determined  such  an  assault  to  be  impractical  
leaving  Union  forces  to  form  defenses  on  the  ridge.  Ewell's  decision  not  to  assault  
Cemetery  Ridge  and  the  reeling  Union  forces  has  been  viewed  as  a  major  mistake  and  
missed  opportunity  for  the  Confederacy.  At  the  end  of  the  first  day  of  Gettysburg,  only  
a  little  more  than  1/4  of  the  total  number  of  troops  for  the  two  sides  combined  had  been  
engaged  in  battle.    
  
  
1.  Infer  the  meaning  of  the  prefix  dis-­  given  the  way  the  word  “dislodge”  is  used  
in  context  in  the  passage.  
a)  (move)  away  
b)  (move)  towards  
c)  With  
d)  Across  
  
2.  By  the  end  of  the  first  day  of  the  Battle  of  Gettysburg,  what  approximate  ratio  
of  the  total  number  of  Union  and  Confederate  armies  combined  had  fought?  
a)  3/5  
b)  33%  
c)  0.25  
d)  20%  
  
3.  Put  the  following  events  in  order.  
I.  Major  General  John  Reynolds  is  killed.  
II.  General  Francis  Barlow  is  captured.  
III.  General  Lee  tells  Ewell  to  take  Cemetery  Ridge  if  possible.  
IV.  General  Abner  Doubleday  assumes  command.  
  
a)  I,  II,  III,  IV  
b)  II,  I,  IV,  III  
c)  II,  I,  IV,  III  
d)  I,  IV,  II,  III  
  
4.  Which  statement  about  the  Union  forces  on  the  first  day  of  battle  is  false?  
a)  Their  defenses,  set  up  by  Buford,  were  broken  down.  
b)  One  of  their  generals  was  killed,  and  one  captured.  
c)  They  crumbled  when  attacked  from  multiple  sides  by  Early.  
d)  They  retreated  to  Chambersburg  Pike.  
  
  
  



5.  Which  statement  can  be  inferred  only  from  the  information  given  in  the  
passage?  
a)  An  attack  on  Union  forces  on  Cemetery  Ridge  could  have  been  a  major  Confederate  
victory.  
b)  More  than  half  of  the  troops  on  both  sides  fought  on  the  first  day  at  Gettysburg.  
c)  The  low  ground  was  most  advantageous  to  seize  control  of  during  the  battle.  
d)  The  low  ground  was  somewhat  advantageous  to  seize  control  of  during  the  battle.  
  
6.  Who  was  not  a  significant  Union  general  during  the  first  day  of  battle  at  
Gettysburg?  
a)  Winfield  Hancock  
b)  Richard  Ewell  
c)  Henry  Heth  
d)  Two  of  the  above  
  
7.  Which  statement  is  an  effect  of  Hancock  sending  most  of  his  army  to  fight  at  
Gettysburg,  according  to  the  passage?  
a)  The  battle  became  one  of  the  most  significant  of  the  war.  
b)  The  Union  was  ambushed  at  Cemetery  Ridge.  
c)  Lee  cut  back  on  his  troops  at  Gettysburg.  
d)  The  Confederate  soldiers  returned  Barlow  to  the  Union.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
----------Key---------- 
 
1. (a)  
2. (c)  
3. (d)  
4. (d)  
5. (a)  
6. (d)  
7. (a) 
  


